SOLVABILITY OF NORM-TYPE DISCRETE ALGEBRAIC RICCATI EQUATION

M. Kono*, N. Takahashi*, M. Sakamoto*

 * Department of Computer Science and System Engineering, Faculty of Engineering, Miyazaki University,
 1-1 Gakuen Kibanadai Nishi, Miyazaki, 889-2192, Japan, takahasi@cs.miyazaki-u.ac.jp

Keywords: Discrete algebraic Riccati equation, Norm-type upper bound, Robust control, Guaranteed cost control

Abstract

This paper proposes a norm-type discrete algebraic Riccati Equation, which is a generalized version of the well-known standard discrete algebraic Riccati Equation, and has additional norm terms. Under stabilizability and assumption that the additional terms are not too large, the existence of a positive semidefinite solution is guaranteed. Application to guaranteed cost control is given.

1 Introduction

In this paper, we propose the following equation with an unknown symmetric matrix P.

$$P = A_0^T P A_0 - A_0^T P B (B^T P B + R)^{-1} B^T P A_0 + C^T C + \Upsilon(P)$$
(1)

where A_0, B and C are matrices with appropriate size and R is positive definite. Further,

$$\Upsilon(P) = (a \| P - PB(B^T PB + R)^{-1}B^T P\| + b \| P\|) \cdot I$$
 (2)

where a and b are positive real numbers and $||A|| = \sigma_{max}(A)$ (σ_{max} denotes the maximum singular value). We call equation (1) a norm-type discrete algebraic Riccati equation. In [1], for a continuous-time system, the authors have proposed the similar algebraic equation which is called a norm-type continuoustime algebraic Riccati equation and given a sufficient condition for it to be solvable. The main purpose of this paper is to extend the result of [1] to the discrete-time case.

2 Main Result

Notice that the equation (1) is equivalent to

$$P = C^{T}C + (A_{0} - B\Omega(P)A_{0})^{T}P(A_{0} - B\Omega(P)A_{0})$$
$$+A_{0}^{T}\Omega(P)^{T}R\Omega(P)A_{0} + \Upsilon(P), \qquad (3)$$

$$\Omega(P) = (B^T P B + R)^{-1} B^T P.$$
(4)

In order to prove a main result we shall require:

(H1)
$$(a+b)\inf_{\Psi} \|\sum_{j=0}^{\infty} ((A_0 - B\Psi)^T)^j (A_0 - B\Psi)^j \| < 1.$$

We need the following preliminary results.

Lemma 1 Suppose that (H1) holds and further

(H2)
$$(A_0, B)$$
 is stabilizable.

i) From hypotheses, there exists Ψ such that $A_0 - B\Psi$ is asymptotically stable and

$$(a+b) \| \sum_{j=0}^{\infty} ((A_0 - B\Psi)^T)^j (A_0 - B\Psi)^j \| < 1.$$
 (5)

For such Ψ , the equation

$$P = C^{T}C + (A_{0} - B\Psi)^{T}P(A_{0} - B\Psi) + \Psi^{T}R\Psi + \Upsilon(P)$$
(6)

has a unique positive semi-definite solution P and is equivalent to

$$P = g(P, \Psi), \tag{7}$$

where

$$g(P, \Psi) = \sum_{j=0}^{\infty} ((A_0 - B\Psi)^T)^j (\Psi^T R \Psi + \Upsilon(P) + C^T C) (A_0 - B\Psi)^j.$$
(8)

ii) For the solution P of the equation (6), $A_0 - B\Omega(P)A_0$ is asymptotically stable.

Lemma 2 Let K and L be positive definite matrices. If $K \ge L$, we have the following relation

$$\|(K^{-1} + R_c)^{-1}\| \ge \|(L^{-1} + R_c)^{-1}\|$$
(9)

) for any positive semi-definite matrix R_c .

Proof Since $\lambda_{max}(K) \geq \lambda_{max}(L)$, it follows that $\lambda_{min}(K^{-1} + R_c) \leq \lambda_{min}(L^{-1} + R_c)$, where λ_{max} denotes the maximum eigenvalues and λ_{min} denotes the minimum one. Thus, we have $1/\lambda_{min}(K^{-1} + R_c) \geq 1/\lambda_{min}(L^{-1} + R_c)$. This implies $||(K^{-1} + R_c)^{-1}|| \geq ||(L^{-1} + R_c)^{-1}||$.

Q.E.D

Theorem 1 Assume that (H1) and (H2) hold. Then there exists a positive semi-definite solution P for equation (1).

Remark 1 Instead of solving (1), P can be determined by limiting solution of the norm-type Riccati difference equation

$$P(k) = C^{T}C + \Upsilon(P(k+1)) + A_{0}^{T}P(k+1)A_{0} -A_{0}^{T}P(k+1)B(B^{T}P(k+1)B + R)^{-1}B^{T}P(k+1)A_{0}$$

Remark 2 ^[12] Consider solvability of the stochastic discrete algebraic Riccati equation (SDARE),

$$P = C^{T}C + A_{0}^{T}PA_{0}$$

+ $A_{0}^{T}PB(B^{T}PB + R)^{-1}B^{T}PA_{0} + \sum_{i=1}^{p}A_{i}^{T}PA_{i}$ (10)

where R is a positive-definite matrix. And in addition to (H1) and (H2), it is required that (C, A_0) is observable. That is, the condition of Theorem 1 is weaker than the one of SDARE.

Proof From (H1) and (H2), there exists Ψ_1 such hat $A_0 - B\Psi_1$ is asymptotically stable and

$$(a+b) \|\sum_{j=0}^{\infty} ((A_0 - B\Psi_1)^T)^j (A_0 - B\Psi_1)^j \| < 1.$$
 (11)

Let P_1 be the solution of $P = g(P, \Psi_1)$ then define

$$\Psi_2 = \Omega(P_1)A_0. \tag{12}$$

In virtue of Lemma 1 i), P_1 is positive semi-definite and satisfies

$$P_{1} = C^{T}C + (A_{0} - B\Psi_{1})^{T}P_{1}(A_{0} - B\Psi_{1}) + \Psi_{1}^{T}R\Psi_{1} + \Upsilon(P_{1}).$$
(13)

Since $A_0 - B\Psi_1$ is asymptotically stable in virtue of Lemma 1 ii), $g(P, \Psi_2)$ can be defined.

Now set

$$P_2^{(1)} = 0, P_2^{(\kappa+1)} = g(P_2^{(\kappa)}, \Psi_2), \kappa = 1, 2, 3, \dots$$

First, we shall show that $P_2^{(\kappa)}$ is monotonically non-decreasing. It is clear that $P_2^{(2)} \ge P_2^{(1)}$.

It follows from (8) that

$$\begin{split} P_2^{(\kappa+1)} &- P_2^{(\kappa)} \\ &= g(P_2^{(\kappa)}, \Psi_2) - g(P_2^{(\kappa-1)}, \Psi_2) \\ &= \sum_{j=0}^{\infty} ((A_0 - B\Psi_2)^T)^j (\Upsilon(P_2^{(\kappa)}) - \Upsilon(P_2^{(\kappa-1)})) \\ &\cdot (A_0 - B\Psi_2)^j \\ &= \sum_{j=0}^{\infty} ((A_0 - B\Psi_2)^T)^j \\ &\cdot [a\{\|P_2^{(\kappa)} - P_2^{(\kappa)}B(B^T P_2^{(\kappa)}B + R)^{-1}B^T P_2^{(\kappa)}\| \\ &- \|P_2^{(\kappa-1)} - P_2^{(\kappa-1)}B(B^T P_2^{(\kappa-1)}B + R)^{-1}B^T P_2^{(\kappa-1)}\|\} \\ &+ b\{\|P_2^{(\kappa)}\| - \|P_2^{(\kappa-1)}\|\}](A_0 - B\Psi_2)^j \\ &= \sum_{j=0}^{\infty} ((A_0 - B\Psi_2)^T)^j [a\{\|((P_2^{(\kappa)})^{-1} + BR^{-1}B^T)\| \\ &- \|((P_2^{(\kappa-1)})^{-1} + BR^{-1}B^T)^{-1}\|\} \\ &+ b\{\|P_2^{(\kappa)}\| - \|P_2^{(\kappa-1)}\|\}](A_0 - B\Psi_2)^j. \end{split}$$

Assume that $P_2^{(\kappa)} \ge P_2^{(\kappa-1)}$. Then, since $||P_2^{(\kappa)}|| \ge ||P_2^{(\kappa-1)}||$ and, in virtue of Lemma 2, $||((P_2^{(\kappa)})^{-1} + BR^{-1}B^T)^{-1}|| \ge ||((P_2^{(\kappa-1)})^{-1} + BR^{-1}B^T)^{-1}||$, we have $P_2^{(\kappa+1)} \ge P_2^{(\kappa)}$, so that $\{P_2^{(\kappa)}\}$ is monotone non-decreasing.

Next, we shall show that $P_2^{(\kappa)} \leq P_1$. It is clear that $P_2^{(1)} \leq P_1$. For arbitrary Ψ, P and Ω defined by (4), we have

$$(A_0 - B\Omega A_0)^T P(A_0 - B\Omega A_0) + A_0^T \Omega^T R\Omega A_0 = (A_0 - B\Psi)^T P(A_0 - B\Psi) + \Psi^T R\Psi - (\Psi - \Omega A_0)^T (B^T P B + R)(\Psi - \Omega A_0).$$
(14)

Substituting $P = P_1$ into (4) and use (12) to obtain

$$\Omega A_0 = \Psi_2. \tag{15}$$

Since substituting $\Omega A_0 = \Psi_2, \Psi = \Psi_1$ into (14) and noting (13) gives

$$(A_0 - B\Psi_2)^T P_1(A_0 - B\Psi_2) + \Psi_2^T R\Psi_2$$

$$\leq (A_0 - B\Psi_1)^T P_1(A_0 - B\Psi_1) + \Psi_1^T R\Psi_1$$

$$= P_1 - C^T C - \Upsilon(P_1).$$
(16)

we have

$$\Psi_2^T R \Psi_2 + C^T C$$

$$\leq P_1 - (A_0 - B \Psi_2)^T P_1 (A_0 - B \Psi_2) - \Upsilon(P_1).$$
(17)

Thus,

$$g(P_2^{(\kappa)}, \Psi_2) = \sum_{j=0}^{\infty} ((A_0 - B\Psi_2)^T)^j \{\Psi_2^T R \Psi_2 + \Upsilon(P_2^{(\kappa)}) + C^T C\} (A_0 - B\Psi_2)^j$$

$$\leq \sum_{j=0}^{\infty} ((A_0 - B\Psi_2)^T)^j (P_1 - (A_0 - B\Psi_2)^T \cdot P_1(A_0 - B\Psi_2) + \Upsilon(P_2^{(\kappa)}) - \Upsilon(P_1))(A_0 - B\Psi_2)^j = \sum_{j=0}^{\infty} ((A_0 - B\Psi_2)^T)^j [a\| ((P_2^{(\kappa)})^{-1} + BR^{-1}B^T)^{-1}\| \cdot I - (\| (P_1^{-1} + BR^{-1}B^T)^{-1}\| \cdot I + b(\| P_2^{(\kappa)}\| - \| P_1\|) \cdot I] \cdot (A_0 - B\Psi_2)^j + P_1.$$
(18)

Assume that $P_2^{(\kappa)} \leq P_1$. Then, since $||P_2^{(\kappa)}|| \leq ||P_1||$ and, in virtue of Lemma 2,

$$\|((P_2^{(\kappa)})^{-1} + BR^{-1}B^T)^{-1}\| \le \|(P_1^{-1} + BR^{-1}B^T)^{-1}\|,\$$

we have

$$P_2^{(\kappa+1)} = g(P_2^{(\kappa)}, \Psi_2) \le P_1$$

If $P_2^{(\kappa)} \leq P_1, P_2^{(\kappa+1)} = g(P_2^{(\kappa)}, \Psi_2) \leq P_1$. Since $P_2^{(1)} = 0 \leq P_1$, we have $P_2^{(\kappa)} \leq P_1$, that is, $P_2^{(\kappa)}$ is bounded. Thus, it follows that there exists $P_2 = \lim_{\kappa \to \infty} P_2^{(\kappa)}$, and $P_2 \leq P_1$. It is shown by repeating this procedure that P_k is monotone non-increasing.

Since $P_k \ge 0$, it follows that there exists $P = \lim_{k \to \infty} P_k$ and P satisfies (1).

V and
$$u(\cdot)$$
 are said to be a guaranteed cost and guaranteed cost control, respectively. The following fact follows from Appendix A.2. Let

$$T_1(P,\xi) = \Delta A^T P (I - B\Omega(P)) A_0 + A_0^T (I - B\Omega(P))^T P \Delta A + \Delta A^T P \Delta A, \quad (24)$$

where $\Omega(P)$ is defined by (4). When $T_1(P,\xi) \leq U_1(P)$ for any $\xi(|\xi_i| \leq 1)$, we call $U_1(P)$ an upper bound matrix of T_1 . Then, in order to calculate the guaranteed cost control law, we have to solve a discrete algebraic Riccati equation with the upper bound term

$$P = C^T C + T_0(P) + U_1(P), (25)$$

where

$$T_0(P) = A_0^T P A_0 - A_0^T P B (B^T P B + R)^{-1} B^T P A_0.$$
 (26)

Using the solution P of (25), we have guaranteed cost control law

$$F(P) = \Omega(P)A_0 \tag{27}$$

The following theorem gives an upper bound.

Theorem 2 In (2), let

$$a = 2||A_0|| \cdot \sum_{i=1}^{p} ||A_i||, \qquad (28)$$

$$b = \left(\sum_{i=1}^{p} \|A_i\|\right)^2.$$
 (29)

Then, an upper bound of $T_1(P,\xi)$ is given by $\Upsilon(P)$.

Proof Since

Q.E.D

$$T_1(P,\xi) = \sum_{i=1}^p \xi_i [A_i^T P(I - B\Omega(P))A_0 + A_0^T (I - B\Omega(P))^T PA_i] + \frac{1}{2} \sum_{i=1}^p \sum_{j=1}^p \xi_i \xi_j D_{ij}$$
(30)

where

$$D_{ij} = A_i^T P A_j + A_j^T P A_i,$$

we have

$$T_{1}(P,\xi) \leq 2\sum_{i=1}^{p} \|A_{i}^{T}P(I - B\Omega(P))A_{0}\| \cdot I + \sum_{i=1}^{p}\sum_{j=1}^{p} \|A_{i}^{T}PA_{j}\| \cdot I \leq 2\sum_{i=1}^{p} \|A_{i}^{T}\| \cdot \|P - PB\Omega(P)\| \cdot \|A_{0}\| \cdot I + \sum_{i=1}^{p}\sum_{j=1}^{p} \|A_{i}\| \cdot \|A_{j}\| \cdot \|P\| \cdot I = \Upsilon(P)$$
(31)

3 APPLICATION TO GUARANTEED COST CONTROL

In the sequel, we consider guaranteed cost control in the linear quadratic case. Consider the following uncertain plant

$$x(t+1) = A(\xi)x(t) + Bu(t), \quad \xi = [\xi_1, \xi_2, \dots, \xi_p] \quad (19)$$

where $\xi_i (i = 1, 2, ..., p)$ is an uncertain parameter and $A(\xi)$ is assumed to be expressed as

$$A(\xi) = A_0 + \Delta A(\xi) = A_0 + \sum_{i=1}^p \xi_i A_i, \quad |\xi_i| \le 1.$$
 (20)

Further, the quadratic cost function to be minimized is

$$J(x(0), u, \xi) = \sum_{t=0}^{\infty} (x^T(t)C^T C x(t) + u^T(t)Ru(t)), \quad (21)$$

where R is positive definite. In the following, we use a linear feedback control law

$$u(t) = -Fx(t). \tag{22}$$

If there exist a positive real number V and control $\boldsymbol{u}(\cdot)$ such that

$$J(x(0), u, \xi) \le V,\tag{23}$$

Q.E.D References

Remark 3 ^[13]*The guaranteed cost control law (27) guarantees robust stability of the closed-loop system for any admissible perturbation* $\xi \in \Xi$.

4 NUMERICAL EXAMPLE

In this section, we shall give a numerical example and show the effectiveness of our method in contrast to the existence method. Let

$$A_0 = \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix}, A_1 = \begin{bmatrix} 0.1 & 0 \\ 0.1 & 0 \end{bmatrix},$$
$$B = \begin{bmatrix} 1 \\ 1 \end{bmatrix}, C = \begin{bmatrix} 1 & 0 \end{bmatrix}.$$

For this system, let us try to apply the methods of [8], [9], which are based on the quadratic bound. Then, we have to solve a discrete algebraic Riccati equation with additional terms.

$$P = A_0^T (P^{-1} - \epsilon DD^T + BR^{-1}B)^{-1}A_0 + Q + (1/\epsilon)E^T E,$$

$$A_1 = E^T D.$$
[6]

However, since for any ϵ the pair $(C + (1/\epsilon)E, A_0)$ is not detectable, there is no stabilizing positive semi-definite solution, we cannot apply guaranteed cost control based on the quadratic bound.

Next, We shall apply our method to this system. The Hypothesis (H1) and (H2) are satisfied. By solving (1), we have the following guaranteed cost control law.

$$u(t) = \begin{bmatrix} 0 & 0.3304 \end{bmatrix} x(t).$$

Then the eigenvalues of the nominal closed-loop system become 0.0 and 0.66960.

For the case $\xi_1 = 1.0$, the eigenvalues of the closed-loop system are 0.165548 and 0.604054. Thus for this perturbation, the closed-loop system is asymptotically stable.

5 CONCLUSION

In this paper, we have proposed the norm-type discrete algebraic Riccati equation, and discussed the existence of a positive semi-definite solution. And we have shown that this equation appears in guaranteed cost control in discrete time systems. It is important to develop an numerical algorithm in order to solve the equation (1). One of the methods is extend the approach of [10], [11].

The problem for future study is to extend our result on guaranteed cost control to the case of parameter variations in an input matrix.

- N. Takahashi, M. Kono, O. Sato, A. Sato. "Guaranteed cost control on the basis of norm-type upper bound", *Proceedings of the 7th International Symposium on Artificial Life and Robotics*, pp. 594-597, (2002).
- [2] W. M. Wonham. "On a matrix Riccati equation of stocastic control", *SIAM Journal of Control*, Vol. 6, No. 4, pp. 681-697, (1968).
- [3] C. E. de Souza, M. D. Fragoso. "On the existence of maximal solution for generalized algebraic Riccati equations arising in stochastic control", *Systems and Control Letters*, Vol. 14, pp. 233-239, (1990).
- [4] P. Dorato, C. Abdallah, V. Cerone. "Linear quadratic control: An introduction", *Prentice Hall*, (1994).
- [5] S. Bittanti, P. Bolzern. "Discrete-time linear periodic systems: Gramian and modal criteria for reachability and controllability", *International Journal of Control*, Vol. 41, No. 4, pp. 909-928, (1985).

M. Kono, T. Suzuki, N. Takahashi. "A note on guaranteed cost control of a linear discrete-time system" (in Japanese), *Memoirs of the Faculty of Engineering, Miyazaki University*, **No. 29**, pp. 321-325, (2000).

- [7] Y. Tang, M. Kono, T. Suzuki. "Stochastic control with multiplicative noise in discrete-time systems", *Proceed*ings of the 7th International Symposium on Artificial Life and Robotics, pp. 590-593, (2002).
- [8] L. Xie, Y. C. Soh. "Guaranteed cost control of discretetime systems", *Control Theory and Advanced Technol*ogy, Vol. 10, No. 4, pp.1235-1251, (1995).
- [9] I. R. Petersen, D. C. McFarlane, M. Rotea. "Optimal guaranteed cost control of discrete-time uncertain linear systems", *in Proceedings of the 12th IFAC World Congress, Sydney*, Vol. I, pp. 407-410, (1993).
- [10] G. A. Hewer. "An iterative technique for the computation of the steady-state gains for the discrete optimal regulator", *IEEE Transaction AC*, Vol. 16, No. 4, pp. 382-384, (1971).
- [11] M. Kono, Y. Tang, N. Takahashi, O. Sato. "A numerical solution of the stochastic discrete algebraic Riccati equation" (in Japanese), *ISCIE Transaction*, Vol. 16, No. 10, (to appear).
- [12] Y. Tang, M. Kono, T. Suzuki. "Solvability of stochastic discrete algebraic Riccati equation", *Proceedings of the International Conference on Control, Automation and Systems*, (2001).
- [13] M. Kono, N. Takahashi. "A note on robust stability of a discrete-time system", *Memoirs of the Faculty of Engineering, Miyazaki University*, No. 30, pp. 327-328 (2001).

A Appendix

A.1 Proof of Lemma 1

i) Since

$$\|P - PB(B^{T}PB + R)^{-1}B^{T}P\|$$

$$= \|(P^{-1} - BR^{-1}B^{T})^{-1}\|$$

$$= \frac{1}{\sigma_{min}(P^{-1} - BR^{-1}B^{T})}$$

$$\leq \frac{1}{\sigma_{min}(P^{-1})} = \sigma_{max}(P)$$

$$= \|P\|, \qquad (32)$$

It follows that

$$\begin{split} \|\sum_{j=0}^{\infty} ((A_{0} - B\Psi)^{T})^{j} (\Upsilon(P)) (A_{0} - B\Psi)^{j} \| \\ &\leq a \sum_{j=0}^{\infty} \| ((A_{0} - B\Psi)^{T})^{j} \| \cdot \| P - PB(B^{T}PB \\ &+ R)^{-1} B^{T} P \| \cdot \| (A_{0} - B\Psi)^{j} \| \\ &+ b \sum_{j=0}^{\infty} \| ((A_{0} - B\Psi)^{T})^{j} \| \cdot \| P \| \cdot \| (A_{0} - B\Psi)^{j} \| \\ &= a \| P \| \cdot \| \sum_{j=0}^{\infty} ((A_{0} - B\Psi)^{T})^{j} (A_{0} - B\Psi)^{j} \| \\ &+ b \| P \| \cdot \| \sum_{j=0}^{\infty} ((A_{0} - B\Psi)^{T})^{j} (A_{0} - B\Psi)^{j} \| \\ &= (a + b) \| P \| \cdot \| \sum_{j=0}^{\infty} ((A_{0} - B\Psi)^{T})^{j} (A_{0} - B\Psi)^{j} \|. (33)$$

In virtue of (H1), we have

$$\|\sum_{j=0}^{\infty} ((A_0 - B\Psi)^T)^j \Upsilon(P) (A_0 - B\Psi)^j \|$$

$$\leq \delta \|P\|, \qquad (34)$$

where $\delta \in (0, 1)$ is independent on P. Thus, since for this Ψ the function $g(P, \Psi)$ is a contraction mapping in P, (7) has a unique solution. From (8), it is clear that P is positive semi-definite.

ii)

It follows from Lemma 1 of [7] that

$$(A_0 - B\Omega(P)A_0)^T P(A_0 - B\Omega(P)A_0)$$

$$\leq (A_0 - B\Psi)^T P(A_0 - B\Psi) + \Psi^T R\Psi.$$
(35)

Since in virtue of (6), the right hand side of (35) coincides with $P - C^T C - \Upsilon(P)$,

$$(A_0 - B\Omega(P)A_0)^T P(A_0 - B\Omega(P)A_0) - P$$

$$\leq -C^T C - \Upsilon(P).$$
(36)

Assume that $A_0 - B\Omega(P)A_0$ is not asymptotically stable. Let λ be unstable eigenvalue and w be the corresponding eigenvector. Premultiplying (36) by w^* and postmultiplying it by w shows that the left hand side of (36) is positive semi-definite, where w^* denotes the conjugate transpose of w. However, since $\Upsilon(P)$ is positive definite, this is contradiction.

Q.E.D.

A.2 Guaranteed cost control

We consider an uncertain system described as equation (19). For this system, we define performance index given as

$$J(x(t_1), u, \xi) = \sum_{t=t_1}^{t_f - 1} \{ x^T(t) C^T C x(t) + u^T(t) R u(t) \} + x^T(t_f) P_f x(t_f)$$
(37)

where R and P_f are positive definite and positive semi-definite, respectively. t_1 and t_f are initial time and final time, respectively.

Definition 1 If there exist a positive real number $V(x(t_1), t_1)$ and $u(\cdot)$ such that

$$J(x(t_1), u(\cdot), \xi) \le V(x(t_1), t_1)$$

for any admissible perturbation $\xi \in \Xi$, $V(x(t_1), t_1)$ is said to be a guaranteed cost for the system staring from $x(t_1)$ at time t_1 , and $u(\cdot)$ is said to be a guaranteed cost control.

Remark 4 Let

$$H(V, x, \eta, t, \xi) = x^T C^T C x + u^T R u + V(x(l+1), l+1) - V(x(l), l)$$
(38)

Then, it follows from optimal principle that if there exists a scalar function V(x,t) and an m-vector valued function $\eta(x(t),t)$ such that

$$H(V, x, \eta, t, \xi) \le 0, \quad t < t_f$$

$$V(x(t_f), t_f) = x^T(t_f) P_f x(t_f)$$

for any $\xi \in \Xi$, $V(x(t_1), t_1)$ is a guaranteed cost for the system starting from $x(t_1)$ at any $t_1 < t_f$ and $\eta(x(t), t)$ ($t_1 \le t < t_f$) is a guaranteed cost control.

Definition 2 Let $T(\xi)$ be an $n \times n$ matrix which depends on an uncertainty $\xi \in \Xi$. U is said to be an upper bound matrix of $T(\xi)$ if $U - T(\xi)$ is non-negative definite for all $\xi \in \Xi$.

 $A(\xi)$ is assumed to be represented as

$$A(\xi) = A_0 + \Delta A(\xi)$$

where A_0 denotes nominal matrix, $\Delta A(\xi)$ denotes their perturbation matrix. We shall seek a guaranteed cost solution of the form

$$V(x,t) = x^T P(t) x_t$$

where P(t) is a positive semi-definite, and is called a guaranteed cost matrix. Then (38) becomes

$$\begin{split} H(V, x, u, t, \xi) &= x^T C^T C x + u^T R u \\ &+ (A(\xi)x + Bu)^T P(t+1)(A(\xi)x + Bu) - x^T P(t)x \\ &= x^T C^T C x + u^T R u + x^T A^T(\xi) P(t+1)A(\xi)x \\ &+ 2u^T B^T P(t+1)A(\xi)x + u^T B^T P(t+1)B u - x^T P(t)x_{\text{Then}}^{\text{Let dl}} \\ &= x^T C^T C x + u^T R u + x^T (A_0 + \Delta A)^T P(t+1)(A_0 + \Delta A)x \\ &+ 2u^T B^T P(t+1)(A_0 + \Delta A)x \\ &+ u^T B^T P(t+1)B u - x^T P(t)x \end{split}$$

Some simple calculation leads to the order representation of $H(V,x,u,t,\xi)$ as

$$H(V, x, u, t, \xi) = x^{T}C^{T}Cx + H_{0}(P(t+1), x, u) + H_{1}(P(t+1), x, u, \xi) - x^{T}P(t)x,$$
(39)

where $H_0(P(t + 1), x, u)$ is a certain term and $H_1(P(t + 1), x, u, \xi)$ is an uncertain term represented as follows.

$$H_{0}(P(t+1), x, u) = x^{T} A_{0}^{T} P(t+1) A_{0} x + 2u^{T} B^{T} P(t+1) A_{0} x + u^{T} \{ B^{T} P(t+1) B + R \} u H_{1}(P(t+1), x, u, \xi) = 2x^{T} \Delta A^{T} P(t+1) A_{0} x + x^{T} \Delta A^{T} P(t+1) \Delta A x + 2u^{T} B^{T} P(t+1) \Delta A x$$
(40)

Since $H_1(P(t+1), x, u, \xi)$ can not be evaluated directly, we request u^* which minimize only $H_0(P(t+1), x, u)$.

Thus,

$$u^{*}(t) = \eta^{*}(x(t), t)$$

= $(B^{T}P(t+1)B + R)^{-1}B^{T}P(t+1)A_{0}x(t)$
= $-\Omega(P(t+1))A_{0}x(t)$ (41)

is obtained.

If $H(V, x, \eta^*, t, \xi)$ is non-positive and

$$P(t_f) = P_f, \tag{42}$$

 $V(x,t) = x^T P(t)x$ is a guaranteed cost in virtue of Remark 4, it follows from non-positivity of $H(V, x, \eta^*, t, \xi)$ that

$$P(t) \ge C^T C + T_0(P(t+1)) + T_1(\xi, P(t+1))$$
(43)

where $T_0(P(t+1)), T_1(\xi, P(t+1))$ are symmetric and

$$T_{0}(P(t+1)) = A_{0}^{T} \{I - B\Omega(P(t+1))\}^{T} P(t+1) \\ \cdot \{I - B\Omega(P(t+1))\} A_{0} \\ + A_{0}^{T} \Omega(P(t+1))^{T} R\Omega(P(t+1)) A_{0} \\ T_{1}(\xi, P(t+1)) \\ = \Delta A^{T} P(t+1) \{I - B\Omega(P(t+1))\} A_{0} \\ + A_{0}^{T} \{I - B\Omega(P(t+1))\}^{T} P(t+1) \Delta A \\ + \Delta A^{T} P(t+1) \Delta A$$
(44)

Let the upper bound matrix of $T_1(\xi, P(t+1))$ be $U_1(P(t+1))$. Then if

$$P(t) = C^{T}C + T_{0}(P(t+1)) + U_{1}(P(t+1))$$
(45)

the condition (43) is satisfied, that is, if there exists P(t) which satisfies (42) and (45), $V(x,t) = x^T P(t)x$ becomes a guaranteed cost. Furthermore, if the difference equation (45) has a stationary solution P, P satisfies the following Riccati-like equation

$$P = C^T C + T_0(P) + U_1(P)$$
(46)

Provided that P is nonsingular, in virtue of matrix inversion lemma, equation (46) can be transformed into

$$P = C^{T}C + A_{0}^{T}(P^{-1} + R_{c})^{-1}A_{0} + U(P)$$
(47)

where $R_c = BR^{-1}B^T$.

Remark 5 For the case U(P) = 0, (46) coincides with the standard discrete-time Algebraic Riccati Equation.